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Q.1 The cost price of an article is Z 2800. Profit as a percentage of selling price is 20 percent. What is the actual profit
(in )?
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Q.1 Asold a mobile phone to B at a gain of 25% and B sold it to C at a loss of 10%. If C paid 25,625 for i1, how much did A
pay (in 2) for the phone?
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Q.2 The sum of the curved surface area and total surface area of a solid cylinder is 2068 em?. If radius of its base is 7 cm,
then what is the volume of this cylinder? ( use 1=22/7) 7\,."‘4,
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Q3 Ifsinfh=(9/41). 0° < 8 < 90° then what is the value of cotf?
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Q.5 Acan finish a piece of the work ia 16 days and B can finish it in 12 days. They worked together for 4 days and then A
left. B finished the remaining work. For how many total number of days did B work to finish the work completely?
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Q.6 Asolid cube of side & em is dropped into a rectangular container of length 16 cm. breadth 8 cm and height 15 em which
is partly filled with water. If the cube is completely submerged, then the rise of water level (in cm) is:
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Q.7 If (x + 6y) =8, and xy = 2, where x > 0, what is the value of (x® + 216y%)?
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Q.10 1f45in20 = 3(1 + cosh). 0° < @ < 90°, then what is the value of (2tan@ + 4sinf — secf)?
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Q.11 The lengths of the three sides of a right-angled triangle are (x — 1) cm, (x = 1) cm and (x + 3) cm, respectively. The
hypotenuse of the right-angled triangle (in cm) is:
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Q.16 Find the greatest number 23a68b, which is divisible by 3 but NOT divisible by 9.
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